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10 clocks

x2p
x2
x6p
x61
x5
x62
x63
x7
t1
t2

1 parameter

WT

8 discrete

c2
c61
c5
c62
c63
c7

chemin_T6_1
chemin_T7_1

Initial

WT >= 0 
 & x2p = 0 
 & x2 = 0 

 & x6p = 0 
 & x61 = 0 
 & x5 = 0 

 & x62 = 0 
 & x63 = 0 
 & x7 = 0 
 & t1 = 0 
 & t2 = 0

periodic_event_T2_1

p20 0 >= x2p

p2 40 >= x2p

 x2p >= 0
  x2p := 0;

 x2p = 40
recommence_T2_1

  x2p := 0;

memoire_lancement_T2_1

m20 True

U m21 True

recommence_T2_1
  c2 := c2 + 1;

fin_T2_1
  c2 := c2 - 1;

c2 = 1
lance_T2_1 c2 <> 1

periodic_event_T6_1

p60 100 >= x6p

p61 30 >= x6p

 x6p = 100
  x6p := 0; recommence_T6_1

memoire_lancement_T6_1

m610 True

U m611 True

recommence_T6_1
  c61 := c61 + 1; U obs61 True

fin_T6_1
  c61 := c61 - 1;

c61 = 1
lance_T6_1 c61 <> 1

chemin_T6_1 = 1
  chemin_T6_1 := 2;

chemin_T6_1 = 2
  chemin_T6_1 := 1;

memoire_lancement_T5_1

m510 True

U m511 True

fin_T6_1
  c5 := c5 + 1;

fin_T5_1
  c5 := c5 - 1;

c5 = 1
lance_T5_1 c5 <> 1

memoire_lancement_T6_2

m620 True

U m621 True

fin_T5_1
  c62 := c62 + 1;

fin_T6_2
  c62 := c62 - 1;

c62 = 1
lance_T6_2 c62 <> 1

memoire_lancement_T6_3

m630 True

U m631 True

fin_T6_2
  c63 := c63 + 1;

fin_T6_3
  c63 := c63 - 1;

c63 = 1
lance_T6_3 c63 <> 1

memoire_lancement_T7_1

m70 True

U m71 True

fin_T6_2
  c7 := c7 + 1; U obs7 True

fin_T7_1
  c7 := c7 - 1;

c7 = 1
lance_T7_1 c7 <> 1

chemin_T7_1 = 1
  chemin_T7_1 := 2;

chemin_T7_1 = 2
  chemin_T7_1 := 1;

tasks

l0 True

l2
17 >= x2

stop x63,x62,x61,x5,x7

lance_T2_1
  x2 := 0;

l61
4 >= x61

stop x5,x7

lance_T6_1
  x61 := 0;

l5
7 >= x5

stop x7

lance_T5_1
  x5 := 0;

l62
10 >= x62

stop x61,x5,x7

lance_T6_2
  x62 := 0;

l63
5 >= x63

stop x62,x61,x5,x7

lance_T6_3
  x63 := 0;

l7 14 >= x7

lance_T7_1
  x7 := 0;

lance_T2_1
  x2 := 0;

lance_T6_3
  x63 := 0;

lance_T6_2
  x62 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

U l2U True

 x2 >= 17
fin_T2_1

lance_T2_1
  x2 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

lance_T6_2
  x62 := 0;

lance_T6_3
  x63 := 0;

U l61U True

 x61 >= 4
fin_T6_1

lance_T2_1
  x2 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

lance_T6_2
  x62 := 0;

lance_T6_3
  x63 := 0;

U l5U True

 x5 >= 4
fin_T5_1

lance_T2_1
  x2 := 0;

lance_T6_2
  x62 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

lance_T6_3
  x63 := 0;

U l62U True

 x62 >= 9
fin_T6_2

lance_T2_1
  x2 := 0;

lance_T6_3
  x63 := 0;

lance_T6_2
  x62 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

U l63U True

 x63 >= 4
fin_T6_3

 x7 >= 11
fin_T7_1

lance_T2_1
  x2 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T6_2
  x62 := 0;

lance_T6_3
  x63 := 0;

lance_T7_1
  x7 := 0;

c63 = 0  
 & c62 = 0  
 & c61 = 0  
 & c5 = 0  
 & c7 = 0

c63 = 0  
 & c62 = 0  
 & c61 > 0

c63 = 0  
 & c62 = 0  
 & c61 = 0  

 & c5 > 0

c63 = 0  
 & c62 > 0

c63 > 0

c63 = 0  
 & c62 = 0  
 & c61 = 0  
 & c5 = 0  
 & c7 > 0

lance_T6_3
  x63 := 0;

lance_T6_2
  x62 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

c62 = 0  
 & c61 = 0  
 & c5 = 0  
 & c7 = 0

c62 = 0  
 & c61 > 0

c62 = 0  
 & c61 = 0  

 & c5 > 0

c62 > 0

c62 = 0  
 & c61 = 0  
 & c5 = 0  
 & c7 > 0

lance_T6_2
  x62 := 0;

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

c61 = 0  
 & c5 = 0  
 & c7 = 0

c61 > 0

c61 = 0  
 & c5 > 0

c61 = 0  
 & c5 = 0  
 & c7 > 0

lance_T6_1
  x61 := 0;

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

c5 = 0  
 & c7 = 0

c5 > 0

c5 = 0  
 & c7 > 0

lance_T5_1
  x5 := 0;

lance_T7_1
  x7 := 0;

c7 = 0

c7 > 0

lance_T7_1
  x7 := 0;

Observateur1

obs10
True

stop t1
chemin_T6_1 <> 1

lance_T6_1 fin_T7_1

obs11 True

chemin_T6_1 = 1
lance_T6_1
  t1 := 0;

chemin_T7_1 <> 1
fin_T7_1 lance_T6_1

U obs13
True

stop t1

chemin_T7_1 = 1
fin_T7_1

 WT >= t1

bloque1 True

 t1 > WT
obs1_bloc

Observateur2

obs20
True

stop t2
chemin_T6_1 <> 2

lance_T6_1 fin_T7_1

obs21 True

chemin_T6_1 = 2
lance_T6_1
  t2 := 0;

chemin_T7_1 <> 2
fin_T7_1 lance_T6_1

U obs23
True

stop t2

chemin_T7_1 = 2
fin_T7_1

 WT >= t2

bloque2 True

 t2 > WT
obs2_bloc

Observateur

obsI True

obsF True

obs1_bloc obs2_bloc


